To solve a system of equations by substitution:
1) Solve either equation for either variable.
2) Substitute that value in for the variable in the OTHER equation.

v = -zx -+ 3 <= This equation s already solved fory.

3x - 2v — 8 Sincey=-2x + 3, anywhere we see ay,
we can substitute -2x + 3 inits place.

ox-dy =%

e s [ X = A(-dx +3) = B
Xtlx -b -3

IxX-0 =%

Ix =19

o Solvo by substitton {

YAy —fEm——

\I - /a( ) b 5 in any equation to figure outy.
Y FoUx3 (9\ /—D is the solvtion
Y ::___—l o this system




o) Sovo by sustittion {

v = 2x + 1 ~—1 This equation is already solved fory.

Since y=2x +1,anywhere we seeay,

X+ 3“ = 31 we can substitute 2x+1 inits place.

Let's do that in the 2nd equation.

X’rSy-—Sl

This equation now contains onlyone |____ X + S( 3’)( b I) = 3 I

X +box +3 =3
K +3 =3
X = A%

the system of equations. Since

Y=+l — roswimaeomosomtons [—— X_= Y

we can now substitute 4 for

o

Y B
y-9

("l,Q) is the solvtion
o the syskem.




o Sove by sustittion {

3y +x = |

X = [-3y

2y-3x=-29
Y+x=1

I chose to solve the
hottom equation for X.

This equation now contains only one
variable (y). We can now solue for y.

Neither equation is solved for one
of its variables. We will have to
choose an equation and a variable
to solve for. Any variahle will work,
but choose a variahle that is easy
to solve for. Variables that have
coefficients of 1or -1are easiest.

Y -9x =-45

- Ay-3(1-3y) =25
Ay -5 +% =-45

ly -3 =-25

We've now found the value of the
y-coordinate of the solution to
the system of equations. Since
, We can now substitute -2 for
in any equation to figure out x.

ly = -4

-y -2

(?rél) 1S the solvhion
to the system




o) Sl by sustttion {

Ax -y = -l

“Y = =dx -l

Y = dxtll

2x-y=-11
3X-6Y=6

1 chose to solve the
top equationfory.

Neither equation is solved for one
of its variables. We will have to
choose an equation and a variable
to solve for. Any variahle will work,
but choose a variahle that is easy
to solve for. Variables that have
coefficients of 1or -1are easiest.

5% -by = b

This equation now contains only one
variable (x). We can now solve for x.

3% = p(Mx ) =
d X-ldx-bb = b

% - bb =6

“Ix -1

We've now found the value of the

\/ = a + “ ~<———1 x-coordinate of the solution to

Y= aAC)+N
AUAl

the system of equations. Since

in any equation to figure outy.

we can now substitute -¢ for

— X =-90

(‘5, - 5) is the solution
Yo the system




o) Sove by substtion: {

on + |5¢ = 60

For thatreason, | chose to solve
the bottom equation for n.

25t- 10 = 100 [EEEEmmer
5n+15r=60 |miee

term in the hottom equation
is divisible by coefficient 5.

5n = 60-15¢
n-=\x-3r

A5c-10n =100

A5¢-10(12-3¢) = 100

This equation now contains only one
variahle (r). We can now solve forr.

n- \x-3r — |
0= \a- ()

We've now found the value of the 5 5 r
r-coordinate of the solutionto

, We can now substitute 4 for
in any equation to figure out n.

If you want to write the solution as an ordered pair, write

N = A1

the variables as coordinates in alphabetical order.

n=0

(0 4 is he solutian
Yo the system

A5¢ - 120 +20¢ = 100
35 =120 = (00
= A0

the system of equations. Since (= (,l

(")



